(a) E(mm/d), VD1, 50th year, July (b) E(mm/d), VvD2-VD1, mo% year, LCQ (c) E(—), (vD2-VvD1)/VD1, 90th year, July (d) E(mm/d), VD3-VDT, wo% year, Lc:\ (e) E(—), (vD3-VD1)/VvD1, 50th year,
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(f) D(mm/d), VD1, 50th year, July (g) D(mm/d), VD2-VD1, 90th year, July (h) D(=), (VD2-VD1)/VD1, 90th year, July (i) D(mm/d), VD3—VD1, 50th year, July (j) UA v (VD3-VD1)/VD1, 50th year, .
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(k) R(mm/d), VD1, 50th year, July (1) R(mm/d), VvD2-VD1, @O»j year, ,E? (m) R(-), (VD2—-VD1)/VD1, 90th year, July (n) R(mm/d), VD3-VD1, wo»j year, ,E? (o) mA ), (VvD3-VD1)/VD1, 50th year,
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(p) Ts(K), VD1, mo% year, July (q) Ts(K), vD2-VD1, 90th %mo« Lc:\ (r) Ts(K), VD3—VD1, 50th V\mox LCQ
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(t) H(W/m?), VD2-VD1, 90th year, July (u) H(-), (VD2-VD1)/VD1, 90th year, July (v) H(W/m?), VD3-VD1, 50th year, July (w) H(-), (VD3-VD1)/VD1, 50th year,
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